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1 [RTorer At faere v B ERem 10 8 257 135 4 6 1 426 Nil 20| 446 0
o [XrTd Wi faemerd wag 0 3 59 19 0 0 1 83 Nil 1 84 0
3 RISTHIT YIIAHE fdeierd Was  TRIGUS 0 2 85 30 0 0 0 120 Nil 3 123 0
4 [FrTr wthe faemer o =aTery 2 5 200 212 3 7 3 527 Nil 5| 532 0
5 ST WA faemerd wad  dleH 1l 11 275 202 7 3 3 510 Nil 10 520 0
6 [WOTOI wtAe faemerd was  Siel dodt 0 0 97 38 1 1 0 137 Nil 1l 138 0
7 [Foiorr mte fdeney wae Srel Heo 2 2 100 137 7 1 1 252 Nil 6| 258 0
g [WoTor wrtae faemerd s s 2 1 03 45 1 1 0 145 Nil 6| 151 0
g [WoTor wthe faemer v A 1 1 86 59 3 0 0 152 Nil 1| 153 0
10 XTI WIS faemerd qad ¥ 3 4 256 77 3 3 2 355 Nil 8| 363 0
11 ST WIS faemerd ¥ad  IATon 9% ar4Te 1 2 153 52 3 3 0 217 Nil 2| 219 0
12 [SIT1 WIS fdemerd Had TIveR 1 0 2 0 0 0 0 3 Nil 0 3 0
13 ST WIS faemerd qad IS 4 3 177 240 10 3 5 458 Nil 12| 470 0
14 |10 Wt fdemes 9o It 3 1 154 43 1 0 0 206 Nil of 206 0
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15 [ISTPI SIS fdenerd wad TS 1 1 177 78 3 5 2 276 Nil 2| 278 0
16 [STOTPII TIAS fenerd e STl awar 3l 7 172| 133 2 2 1 323 Nil 3| 326 0
17 [STN RIS fdenerd e ant 6 5 364 46 2 5 2 434 Nil 3| 437 0
18 [SISTBTI RIAE [ETer o THIR—RI 3l 6 219 59 1 7 5 307 Nil 8| 315 0
19 [SOTTI URIA AETery a7 BT 2| 3 323 44 12 4 2 390 Nil 5| 395 0
20 [ISTPIA rifie f9emerd e ARET 4 4 336| 216 5 13 6 596 Nil 21| 617 0
01 [TT@R ST faermerd sad g 3 1 116 52 4 1 0 181 Nil 2| 183 0
oo [RToTe et faEmerd saw  fapHmm | 143 32 5 1 0 185 Nil 1| 186 0
03 [RoTTa WRIAE faermer waw ISt o 1 88 32 3 1 0 127 Nil 1| 128 0
04 [RISTIA rIfAe f9ermerd wad  gh el il o 129 79 5 1 1 222 Nil of 222 0
25 [STSTOTI X BIell WA SO 1 2 219 75 0 3 0 303 Nil 5 308 0
26 [WOTPId HIfAe faenerd Hwad e (qd1 ) S 216| 181 11 1 0 422 Nil 2| 424 0
07 [FTTOR WA f9Enerd WA wwwse (sl aw) |4l 221| 137 5 1 0 372 Nil 2| 374 0
0g [ISTIA UrIHe f9ermerd wad = 1 5 119 33 2 3 0 165 Nil 1| 166 0
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29 [ISTPIA URIfAe f9emerd wad  &refie 51 5 195 179 g 8 4 0 407 Nil 12| 419
30 [SOTPR WA fernerd wad 3 1 138 30 il o 2 0 176 Nil 3| 179
31 [VOTOR TS [Ened 99 a8 6| 11 266| 181 1| 7 5 4 486 Nil ol 495
32 [WISTPII §ER Pl e IC] 5 11 331 70 6 2 3 2 432 Nil 5| 437
33 [XoTra HreifAe fernerd s s 9| 10 161 390 13| 8 1 3 599 Nil 6 605
34 [OTOI RIS [9ened Ha - @re 3l a4 206 66 of 2 3 0 284 Nil 6] 290
35 [SOTPI U1 [9enerd wad v 3| 11 253| 266 9 8 8 1 566 Nil 10| 576
36 [T HIAS f9Enerd AT auRg 3 o 179 81 2l o 5 0 270 Nil 4 274
37 [VOTOTA WIS fdemerd 9aT e 3l a4 250 193 3| 10 5 1 473 Nil 2| 475
3g [SOTPI WA [9Enerd o wagR 4 4 320 45 1l 1 7 1 384 Nil 2| 386
39 [WoTra HrifAe faernerd e e 2| s 202| 257 51 6 3 3 491 Nil 8 499
40 [TOTIT SRS faemerd qa b 4 1 446| 147 2l 4 6 2 615 Nil 9| 624
41 [SSTRTT AR fqErerd e el il o 174|129 4 1 1 1 315 Nil 2| 317
42 |TOTOIT RIS faemerd qaq  qav 71 2 180 184 1l 1 3 1 379 Nil 2| 381
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43 [SISTRT TIAe fqermerd wad e (e 1) 2 o 144 217 51 1 2| 5| 1 3 380 Nil 3| 383
44 [SSTOTT TTAAE fqEmerd wad e (@er T-2) 4 7 207| 229 6| 2 o 7 1 4 467 Nil 5| 472
45 [RToTOT wfde faemery o @ (qdT ) 4 o 187| 216 71 1 1| 4] 3 4 427 Nil 11| 438
46 [SISTRTT TIIAS fqermerd wad  earT (Sferon ) 1l 2 117 31 | il of 2 1 158 Nil 2| 160
47 [TSTPRA FER DTell HaT  AHATS] 5 6 433 253 5 2 3l 71 3 2 719 Nil 15| 734
48 [TISTRT TIAe fqermers waT  feaSetrorm™ 3 2 256| 178 71 0 3l 2 2 2 455 Nil 4 459
49 [WTSTTA HTRIAS fqermerd saw  AnTeTTg | 351 135 4 2 of 3 7 1 511 Nil 3| 514
50 [WoTId grifAe faEnerd WA avrs] il 3 170 35 3l 1 of 2| a4 1 220 Nil 6| 226
51 [T WM faenerd wad By 5 2 159 215 S 40 5| 2 6 405 Nil 3| 408
52 (XTI rifAe f9ermerd wad  ared, (qd ) 8 5 288 94 il o il e 9 1 413 Nil 8| 421
53 [XoIId HrifAe faermerd e arey (sferl ) 6f s 205| 123 11| 4 2| 3| 6 2 367 Nil 4 371
54 [VOTOTA TS [ened 99 awt 3 5 254 129 11| 5 2| 2| 6 2 419 Nil 4 423
55 (XTI JRIfAe® f9ermerd wad  dRT <de 8 5 143| 181 | 6 of 1 3 1 349 Nil 2| 351
56 [(OTPId TR faemerd WA qre aRgs! 18| 10 382 114 g 4 51 5| 10 8 564 Nil 5 569
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57 (XTI TR f9emerd wad  TYaaR 9 5 167 223 4 8 2 428 Nil 436
5g [STTOR TIAe faETerd e dretl of 1 136 53 6 1 1 202 Nil 203
59 [FToTOR eI faEnerd qaT  wer 71 o 194 183 4 2 4 403 Nil 405
60 |SISTRId eI fdernery %o SSiell 33 9 255 154 5 6 4 476 Nil 481
61 [T TIIAD fIenerd o USTCleR—RITeeT | g3 4 104 109 10 0 0 246 Nil 248
62 [TSTPIT SIS fdeerd ad Sl 21 2 201 178 3 6 2 423 Nil 431
63 [T TIIAD femerd e RicarawonTid 34 6 211| 188 6 4 2 464 Nil 468
64 [T SIS faenery o Ta, 2l o 80 25 0 0 2 112 Nil 114
65 [STOTPIA IR Aeerd s HHATC 122 3 99 62 3 4 0 298 Nil 304
66 |SIOTPId WIRIAD faEnery 9T SRS 4 s 165 149 16 7 6 363 Nil 370
67 [STOTOII SIAAe faererd Ha e 3| 4 203 138 1 5 3 371 Nil 377
68 [COTPIT IS [denerd wad  gos 4 5 277 63 4 6 3 371 Nil 378
69 [STOTPIA WRIAS faenerd Ha  Fw=1g (T 1) 51 4 238 151 7 3 3 423 Nil 429
70 [AISTRI ST fdenerd wad  aw=Tqe (el o (ol o 216 64 10 6 2 301 Nil 306
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71 [T IR 9ETerd A STefy JRATe 4 3 284 176 6 3 5| 7 3 500 Nil 508 0
72 [(ora wiAe fEnerd AT IR il 1 50 51 il o o o 0 106 Nil 106 0
73 [(TSTII HrRIAS f9emerd e R 51 a4 254 231 6| 6 il o 0 508 Nil 514 0
74 [oTOR SrAfA® f9Enerd HaT WSl (T ) 4 6 194| 145 S | 3 379 Nil 387 0
75 [T WA fEnerd WA wavsl (@l A [ 5 239 97 4 2 o 1 2 353 Nil 358 0
76 [STOTIA WRIASG fAenerd e fef 4 2 219 77 3l 1 | 1 2 311 Nil 315 0
77 [T WA fdETerd e SR 3 o 66 27 | il o 0 102 Nil 103 0
78 [ToT@R SIAe f9Enerd HaT  dorelt 4 1 287| 182 gl 3 | 2 1 493 Nil 500 0
79 [t STt faEnerd waT <1 2 7 324 105 2| 5 2l 1 1 457 Nil 463 0
g0 [XTPIA rIfAe faermerd wad TSt il a4 174 49 of 3 of o 0 233 Nil 238 0
g1 [(orra HrifAe faenerd WA gegtel 2| 5 181 74 3l 2 il s 2 279 Nil 281 0
g2 [SoTI WA fenerd wad Had (qa1 ) 3 7 212| 116 1 9 2| 4 5 362 Nil 368 0
g3 (XTI riAe faermerd wa  #ad (qfaror #r) 7 187 25 of 1 | 3 1 230 Nil 236 0
g4 [SIOTOIA WIS faermerd Jas  faorsrott 4 11 260| 108 il o o 5 3 396 Nil 401 0
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g5 [JToTId U A fAemerd a9 IrTe) 3 5 223 144 4 4 o 6 1 392 Nil 5 397
g6 |SToTrd wrItHe f9ermery was  WvTs 4 5 140 152 6 4 1l 5| a4 2 323 Nil 4|l 327
g7 [ToT®i metfe fdenea wad das] 0 2 100 51 0 3 i ) 1 0 160 Nil 4 164
gg [SISTPI $SX Plelol 9 THTR 3 5 248 190 11 9 1l 3 4 4 478 Nil 10 488
gg [TIoTaId wfHe femerd Wad  Qlef 1 3 163 61 3 2 of 1 4 1 239 Nil 2|  2m
90 [STTIT WItHe f9ermery was dUSRT (Ydl 1) 3 5 119 213 7 2 of 2 1 1 353 Nil 4| 357
91 [STT®I A fAeerd ¥ad  wUSRT (gl ) 1 1 216 89 2 5 1l 2 3 1 321 Nil 1| 322
92 [SToT@Id WrItHe f9ermery was oYy 6 4 233 193 6 5 of 3 4 2 456 Nil 5| 461
93 [SITIT WA fAemerd Wad  HuriRie 2 2 112 36 0 3 of o 7 0 162 Nil 2| 164
94 [STT@IT WrIfHe f9ermerd was  AANTSHN] 2 1 84 21 0 1 of o 1 1 111 Nil ol 111
95 [SIoTId WtHe Aermerd wad - ar 6 1 104 185 71 6 oo 3 o 4 316 Nil al 320
96 [STTHIT WA emery Wad  dred 1 6 181 78 5 2 2l 1 2 3 281 Nil 5| 286
97 [SoT@IT WA f9ermery was el 0 1 56 35 0 0 1l o 2 0 95 Nil 1 26
98 [TIoTIT WItHe [Aemerd Wad  Saave 0 2 15 10 1 0 of 2 0 0 30 Nil 2 32
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99 (XTI riAe f9ermerd wa  derm o 3 173 33 9 2 2 223 Nil 4l 227
100 [RTSTPTT SefAe faenerd wad  fiee 5 5 215| 153 6 5 4 407 Nil 3| 410
101 |[STOTPTA S IS (9Emerd Had el 3 3 101 67 0 1 0 177 Nil 3| 180
102 [STOTTA HIA el v R 28| 11 364| 113 1 9 1 537 Nil 5| 542
103 |[SOTPIA ¥R Fletol HaT AN 5 2 204| 148 8 7 1 384 Nil 71 391
104 W TG fdenerd 9o ATl (SfaRad 0 1 104 21 2 7 1 139 Nil 2| 141
105 NI SR ee e ) S 64 60 4 2 2 145 Nil 2| 147
106 [TOTPTT WIS faenerd wad dgaTs (erTen) 3l 1 165 54 10 0 2 237 Nil 2| 239
107 ST WA fenerd waT e 2 2 153 190 8 3 3 368 Nil 6| 374
108 XTI WA erTerd sa  dedrs! 4 2 104 30 2 1 1 147 Nil 1| 148
109 [(TOTTA WIfAS faenerd wa  wAd 51 5 124| 168 10 3 3 330 Nil 11| 341
110 |[STOTPIA TSR FIeISl a7 I (ST 4T) 4 2 295 303 19 1 2 637 Nil 3| 640
111 [STOTPT FEX Pletol Ha SR (ARaH 4m) 3l 3 205 248 22 0 1 577 Nil 4 581
112 [SISTRTI QDT FER Pletol HaT - IR 1 1 286| 159 14 2 2 474 Nil 2| 476
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113 [STOTT HRIAS et sa  Hefril 171 4 211 114 S 3 3 364 Nil 369
114 [T WA f9enerd sa g (Fer 1) 3l o 142| 188 2| 1 5 0 344 Nil 345
115 [SIOT0TT TrIAe faenery ¥ amay (Fer F-2) 3l o 94| 154 51 2 3 0 268 Nil 273
116 [STOTPTA HIAS AeTerd sa  HIsHeTa 1l 4 101 140f 11| 3 2 0 264 Nil 268
117 [(TOTTA 1 Sod A1Afaes fqenery 9o Fadprc] 71 o 161 42 | 2 2 3 219 Nil 225
118 [SIOTPTA TIATAE {Aermerd e GHtell Aerdprc] 20 3 123 122 51 1 6 5 288 Nil 289
119 [SISTIT I feTer a7 diel il 2 91 29 2l o 1 0 126 Nil 127
120 [STOTI SIAe f9enerd e AN 51 0 248 34 of 2 8 1 300 Nil 306
121 [STOTOTA TG (dermerd a1 Eemn 3 1 148 66 |l 4 1 0 225 Nil 225
122 [STTTA WRIAS fAenerd Haw <1l aiie 14 1 96 83 3 o 2 2 204 Nil 204
123 [FIOTTI I feTery o SRR 12| 3 248 94 2| 7 9 0 378 Nil 384
124 [TTOTOTA TIAAE {AeTerd 9o AR 1| 3 173 47 |l 4 3 3 240 Nil 245
125 [STOTPTA DT Iod TIAAE [qererd 9o TR [ o7 5 108 161 4 10 4 2 328 Nil 335
126 [T W1RAA fagnerd 9o aR—gTER 14| 3 122| 197 71 6 0 4 355 Nil 359
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107 |9ATId B TAHD 2 1 79 30 2l 2 1l 3| 4 0 124 Nil of 124
128 [TSTPTT WA fAenerd waw A (a1 5-1) 12| 10 315 242 10| 5 3l e 7 4 614 Nil 3| 617
129 [(TST1A HRIAS fdenerd e arar (e G-2) 0 2 262| 108 1| 12 o 4 s 1 308 Nil 2| 400
130 [(TOTTA HIAS et saw  awarel 51 4 85 77 | 1 o o 1 1 175 Nil 4 179
131 [TOTPTT W1RIAS fAemerd 9ad  Plei—] 4 2 209 56 1 2 2l 1 4 1 282 Nil 4] 286
132 [SOT0TA FRIAE fdenerd 9o Euirrard 4 7 151 53 3| 4 o 4 5 3 234 Nil 2| 236
133 [STOTT WIA fAenerd e TSTT 5 6 140 173 8| 15 2l 71 1 0 357 Nil 2| 359
134 [(TTT WA fenerd Haw PrEve] ] 154 20 o o o 1| 2 2 187 Nil o 187
135 (TSI FIRIAS emerd 9ad - 3R il 3 167 29 2| 4 o 4 3 2 215 Nil 8| 223
136 [STOTTA IR eTerd sa  ofverTia gl 8 198 79 3l 3 il 2| 7 1 310 Nil 10| 320
137 [(TOTT WifAe faeners aw gemet of 2 87 20 | il 1| s 0 121 Nil 4 125
138 [\ WifAd fAenerd Haw $rosg il 7 182 88 2| 1 2| 4 1 1 289 Nil 4 293
139 [(TOT91A SR Plelol HaT  PIUSy 9| 53 279| 118 2l 9 o 6 4 2 482 Nil 5| 487
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m| CIE| 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Aqed wiell R fAfiRea wdl & got | 772| 46| 26015 15826| 507| s80| 120| 316| 479 235| 4sa0s|  Nil|  627| 46032




